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Question Number : 1 Question Id : 2549896565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Restoration of database to the most recent correct state if database failure occurs is called:

Options :

1. * storage

2. * backup

3. ¥ recovery

4. % copying

Question Number : 1 Question Id : 2549896565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ &R

2. ® depory



Question Number : 2 Question Id : 2549896692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a network device?

Options:

1. Bridge

2. # Light pen
3. * Tablet

4. # Stylus

Question Number : 2 Question Id : 2549896692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ fast
2. % 1ge U
3. ¥ qete

4, % W3l

Question Number : 3 Question Id : 2549897090 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is a shell?

Options :

1. # Itis a hardware component.
2. ¥ Itis a command interpreter.
3. % Itis a partin acomputer.

4. *# Ttis a tool in CPU scheduling.

Question Number : 3 Question Id : 2549897090 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ® Tg Ueh GISIT T ©
2. ¥ g o HHIS SR 2
3. ¥ g HYR I eh YT §

4. % gg CPU S=yfeilT T Ueh ¢ &

Question Number : 4 Question Id : 2549897910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose the Hexadecimal equivalent of the decimal number 35.

Options :



1. % 22

2. % 21

3.¥ 23

4. % 24

Question Number : 4 Question Id : 2549897910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

TR G135 & T st e (Hexadecimal) g1

Options :
1. % 22
2. % 21
3.4 23

4. % 24

Question Number : 5 Question Id : 2549898427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the cumulative beta probability density function in Excel?

Options :

1. ¥ CUM.BETAP function
2. ¥ BETADIST function
3. ® CHISQ.DIST function

4. % CHIS.DISTQP function



Question Number : 5 Question Id : 2549898427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Excel ®, &l 91 thare ot sfter dregar g97cd (cumulative beta probability density) the dterar 82

Options :

1. ¥ CUM.BETAP theH
2. ¥ BETADIST tharE
3. ¥ CHISQ.DIST ther™

4. ¥ CHIS.DISTQP therrE

Question Number : 6 Question Id : 2549899133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, function returns a reference indicated by a text value

Options:
1. % INFO
2. % INDEX
3. # DIRECT

4. " INDIRECT

Question Number : 6 Question Id : 2549899133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MS-Excel &, ThaRF Tch ¢oRe T4 gIRT 311 Tah 9ef (reference) 2ar 8?

Options :
1. ®* INFO
2. % INDEX
3. # DIRECT

4. + INDIRECT

Question Number : 7 Question Id : 2549899338 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which type of keyboard provides the greatest amount of flexibility and convenience by eliminating

cables connected to the system unit?

Options :

1. * Traditional
2. ¥ Wireless
3. ¥ Network

4. % Ergonomic

Question Number : 7 Question Id : 2549899338 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ QRWRATT



2. ¥ gAY
3. ® dcgh

4. % QIHIAen

Question Number : 8 Question Id : 25498930220 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
PAN, smallest network which is very personal to a user, in network stands for:

Options :

1.+ Personal Area Network
2. * Private Area Network
3. # Public Area Network

4. * Protected Area Network

Question Number : 8 Question Id : 25498930220 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
89 (PAN), a9 BieT Aeddh & S Acadh H, Yeh IuANThdT & forg siga 81 s gtar 8, saer gof ®u 2:

Options :

1. ' gdae uRar Aeas (Personal Area Network)
2. % yrgde TRAT Aeadh (Private Area Network)
3. # gfsees Ulkar dAeadh (Public Area Network)

4. % yidads ular Aeash (Protected Area Network)



Question Number : 9 Question Id : 25498930629 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

holds the address of the memory location of the next instruction, which is to be fetched after

the current instruction is completed.

Options :

1. % Program Counter
2. % Data Register

3. # Instruction Register

4. % Accumulator

Question Number : 9 Question Id : 25498930629 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ UM SR
2. ® AR

3. % 3RM IR

4. ¥ ggrge (Accumulator)

Question Number : 10 Question Id : 25498930670 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In MS-Excel, what is the category of the function "ISNUMBER"?

Options:

1. # Statistics

2. * Look up and Reference
3. ¥ Maths and Trigonometry

4. + Information

Question Number : 10 Question Id : 25498930670 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

MS-Excel #, "ISNUMBER" tha= &t Soft a1 82

Options :
1. ® giferdh
2. ¥ §op U g7 HeH (Look up and Reference)

3. % 7furg R Pepiviafa

4. « g1 (Information)

Question Number : 11 Question Id : 25498930982 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following displays used in portable digital devices, such as watches or solar-powered

calculators, consumes extremely less power?

Options :

1. % LCD (liquid-crystal display)



2. # Incandescent
3. * LED (light-emitting diode)

4. * Vacuum fluorescent

Question Number : 11 Question Id : 25498930982 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ ga.4.3. (fifere-frea few=)
2. % QoI (hede)

3. ¥ ga.3.38]. (Age-ufafin smre)

4. % fafa ufadifa (g wiRIEe)

Question Number : 12 Question Id : 25498933064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following component generates clicks with spark plug on an acoustic tablet?

Options :

1. * Ethernet connector
2. * USB cable

3. ¥ Puck

4. + Stylus



Question Number : 12 Question Id : 25498933064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ YT FAFRR
2. % USB thae

3. # Ush

4. ¥ wIgeg

Question Number : 13 Question Id : 25498933189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

With , you can look in one column for a search term, and return a result from the same row

in another column, regardless of which side the return column is on.

Options:

1. #* VLOOKUP
2. ¥ XLOOKUP
3. # HLOOKUP

4. % COUNTIF

Question Number : 13 Question Id : 25498933189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. * VLOOKUP
2. ¥ XLOOKUP
3. #* HLOOKUP

4. = COUNTIF

Question Number : 14 Question Id : 25498933819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
AGP-8X is the fastest expansion slot with a transfer rate of:

Options :

1. % 2,133 megabytes per second
2. * 1,200 megabytes per second
3. # 1,100 megabytes per second

4. # 5,100 megabytes per second

Question Number : 14 Question Id : 25498933819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AGP-8X T AT TaRTURM TATC § 1 $TehI iR &< feha-il g2

Options :

1.+ 2,133 #rarge ufd ahs



2. # 1,200 AvmaETge ufd dche
3. ¥ 1,100 AETse Ufd Yche

4. % 5100 WETSe Ufd dchs

Question Number : 15 Question Id : 25498934842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the most common connector used for computer displays?

Options :

1. % Audio connector
2. ¥ VGA connector

3. # Electric connector

4. # Voltage connector

Question Number : 15 Question Id : 25498934842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ ISl ez
2. ¥ VGA e
3. ¥ golfergen e

4. % geds hraex



Question Number : 16 Question Id : 2549899489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If your printer is offline or it is not ready, then the next printing job will be

Options :

1. * cancelled

2. % postponed for an unlimited time
3. ¥ held in the print queue

4. #* printed after one hour

Question Number : 16 Question Id : 2549899489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % fvea gt smem

2. % rifag gwa & forg wfia gt srgmm
3. ¢ flic dR & @1 ST

4, % yep ¢ 915 fife ghm

Question Number : 17 Question Id : 2549899500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is the binary equivalent of the decimal number 20?



Options :
1. % 11001
2.4 10100
3. % 11110

4. % 0111

Question Number : 17 Question Id : 2549899500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 11001
2.410100
3. % 11110

4. % 0111

Question Number : 18 Question Id : 2549899606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which set of printers belongs to the category of line printers?

Options :
1. ® Laser]et, inkjet and dot matrix
2. ¥ Drum, chain and band

3. #* Drum, chain and dot matrix



4. # LaserJet, drum and chain

Question Number : 18 Question Id : 2549899606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ AR Sie, ehoic 3R Sle Afeaa
2. g, d9 3R ds
3. % gf, 99 iRk Sle At

4. % FoR S, 39 R A

Question Number : 19 Question Id : 2549899633 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the decimal equivalent of the binary number 11001?

Options :
1.9 25
2. % 24
3. % 23

4. % 22

Question Number : 19 Question Id : 2549899633 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
TR H=AT 11001 o GAGed SHed ST =1 | 4 ol &t 82

Options:
1.925
2. % 24
3. % 23

4. % 22

Question Number : 20 Question Id : 25498911120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is the name of an industry standard for firmware (built-in software) that allows digital

cameras and printers to communicate directly with each other.

Options :

1. % Switches
2. ¥ Pictbridge
3. ¥ Hub

4, = Router

Question Number : 20 Question Id : 25498911120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.



% f@=

2. ¢ fUeefast

4, % A3

Question Number : 21 Question Id : 25498911266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following displays both the name of the application and the name of the spreadsheet

in MS-Excel?

Options :

1. # Menu bar
2. ¥ Title bar
3. # Toll bar

4. % Task bar

Question Number : 21 Question Id : 25498911266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel , Tfteher & 717 3R Srefie & am, g4 shel W Uefid gid &2

Options :
1. ® A7 ER
2. ¥ T3¢ IR

3. % a9 9R



4, % Th dR

Question Number : 22 Question Id : 25498911277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a phenomenon associated with FM reception, in which only the stronger

of two signals at or near the same frequency will be demodulated?

Options :

1. % Capture effect

2. * Two-station effect
3. ¥ Blur effect

4. % Threshold effect

Question Number : 22 Question Id : 25498911277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

fAefeafed 7 @ -8 FM RawE & St ges ulkeae g, foad gas gt gy o a1 39k Fepe & at el 7 &
halel Uee dTet ot ferTSIete fohar srgam?

Options :

1. ¥ H&R 3hae
2. % 2R gthae
3. ¥ &R gthee

4. % IS Thee

Question Number : 23 Question Id : 25498913496 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

coding is a compression technology for audio signals that is based on imperfections of the

human ear.

Options :

1. Perceptual Audio
2. % Entropy

3. ¥ Transformation

4. % Differential

Question Number : 23 Question Id : 25498913496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HifST, Affeat et o foig Uah ddfie dehrten @ St AT o1 <t srguiarstt (imperfections) TR smemRa
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Options :
1. ¢ qdegere Siffeat
2. % geordy

3. ¥ ZigpEE

Question Number : 24 Question Id : 25498913787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



can protect communications that traverse un-trusted networks.

Options:

1. % Bibliography
2. ¥ Cryptography
3. ¥ Sonography

4, ®# Tomography

Question Number : 24 Question Id : 25498913787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % fafeeratumhr

2. ¢ foheaiuhl

Question Number : 25 Question Id : 25498918507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a common planned maintenance activities performed by

Microsoft-

Options :

1. * Security hotfixes



2. ¥ Operating system (OS) security updates
3. * Microsoft quality updates

4. * Troubleshooting

Question Number : 25 Question Id : 25498918507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfeifRaa & @ @ @ Microsoft grT fAsurfed amm=a fRaifSia @@ (maintenance) nfafafar 78t -

Options :

1. ® grer giefthery

2. ¢ ATQRIT faeeH (31gd) gRam sruse
3. ¥ HATShIGTTE TUTa TS

4. % gaEr QAaror

Question Number : 26 Question Id : 25498918539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following allows access to a computer with the external environment?

Options :

1. #¥ Arithmetic Logic Unit
2. ¥ Input Unit

3. ¥ Memory Unit

4. ¥ ROM Unit



Question Number : 26 Question Id : 25498918539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAfafEa & & o a1gdt ardTaRon & Q1Y SR d ugan 6 srgafd 3ar 82

Options :

1. % arfife e afie

2. ¥ Y gfAe

3. % A gfe

4. % ROM gfie

Question Number : 27 Question Id : 25498923890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What do you call a computer on a network that requests files from another computer?

Options :
1.+ Aclient
2. * A host
3. % Arouter

4. % A web server

Question Number : 27 Question Id : 25498923890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Aeaeh | [q U ShgeR i T vl SITdT @ St fohdt 310 Shger & WISl ol SIRIY Shedl 8?2




Options :
1. RIS
2. % g

3. ¥ AR

4. % 99 geR

Question Number : 28 Question Id : 25498924019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The pixel dimensions of an image are what really determine the size of the image and quality of

how it will display on

Options :

1. % a paper

2. % a whiteboard
3. ¥ the web

4. * ablackboard

Question Number : 28 Question Id : 25498924019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 0R

2. % ggedrs



3.¥d9

Question Number : 29 Question Id : 25498924065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From where can minimised programs be accessed in the Windows OS?

Options:

1. % Menu bar
2. ¥ Task bar
3. * Tool bar

4. # Desktop

Question Number : 29 Question Id : 25498924065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ AR
2. ¥ T&h TR
3. ¥ AR

4, % &R

Question Number : 30 Question Id : 25498924302 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The development of the UNIX operating system started in the

Options :

1. % 1960s
2. % 1950s
3. # 1970s

4. * 1940s

Question Number : 30 Question Id : 25498924302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % 1960s
2. % 1950s
3. % 1970s

4. * 1940s

Question Number : 31 Question Id : 2549896351 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
B2C, C2C and B2B are types of

Options :



1. % e-commerce
2. % email
3. # e-cash

4. % protocols

Question Number : 31 Question Id : 2549896351 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ $-epind
2. %
3. ¥ g-ha

4. % vt

Question Number : 32 Question Id : 2549896514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A software that searches through a database of web pages for a particular piece of information is

known as a/an

Options :
1. * domain
2. % email client

3. ¥ modem



4, ¥ search engine

Question Number : 32 Question Id : 2549896514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ S
2. % e Rellse
3. ¥ #red

4.« O o1

Question Number : 33 Question Id : 2549896529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following represents a valid email address?

Options :

1. # Vml.@india.com
2. % @vrm@india.com
3. #* Vrm.india.com

4. ¥ Vrm@india.com

Question Number : 33 Question Id : 2549896529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ Vml.@india.com
2. % @vrm@india.com
3. * Vrm.india.com

4. ¥ Vrm@india.com

Question Number : 34 Question Id : 2549896732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When you want to visit a website, you can type the website address or URL in the

Options :

1. % browser address bar
2. % window bar

3. ® taskbar

4. % side bar

Question Number : 34 Question Id : 2549896732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SI¥9R g9 IR



2. % fdgl R
3. ¥ TR AR

4, ® {rss dR

Question Number : 35 Question Id : 2549896986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Pressing which function key helps to enter BIOS setup as the computer is booting?

Options :
1.9 F1
2. % F5
3. % F3

4. % F4

Question Number : 35 Question Id : 2549896986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.9 F1
2. % F5
3. % F3

4. % F4



Question Number : 36 Question Id : 2549897438 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function of MS-Word is related with 'dropped' in the position option?

Options :

1. * Remove
2. ® Format
3. % Drop cap

4. % Edit

Question Number : 36 Question Id : 2549897438 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % Rga
2. % BiHe

3. ¥ guhy

4. % gfee

Question Number : 37 Question Id : 2549897939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which input device uses infrared LED light to bounce off surfaces to track movement?



Options :

1. ¢ Optical mouse
2. % Laser mouse

3. # Trackball mouse

4. % Wired mouse

Question Number : 37 Question Id : 2549897939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Jiftehal AIRY
2. ® TR AY

3. ¥ Ihald AR

4, % RIS IS

Question Number : 38 Question Id : 2549897985 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a payment system that allows money transfer between any two bank accounts by using a

smartphone.

Options :
1. % UlI

2. ¥ UPI



3. % SlI

4. = SBB

Question Number : 38 Question Id : 2549897985 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % UlI
2. % UPI
3. % SII

4. = SBB

Question Number : 39 Question Id : 2549898017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which year was the BHIM App launched?

Options :
1.4 2016
2. #2017
3. # 2015

4. % 2014

Question Number : 39 Question Id : 2549898017 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.4 2016
2. % 2017
3. # 2015

4. % 2014

Question Number : 40 Question Id : 2549899398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Alignment buttons are available on the tab of MS Word.

Options :

1. % Review
2. ¥ Home
3. #* Insert

4. * Page Layout

Question Number : 40 Question Id : 2549899398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Reg.



2.¥ g
3. % 3¢

4. % U A3

Question Number : 41 Question Id : 25498910430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The command changes the selected text to upper case, lower case, or other common

capitalisation.

Options :

1. % Change Case
2. % Grow Font
3. ¥ Shrink Font

4, # Case Change

Question Number : 41 Question Id : 25498910430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ IS HY
2. % M thie
3. % {3 thie

4, % Hg A



Question Number : 42 Question Id : 25498910706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Snapdragon processor is developed by which company?

Options :

1. % Qualcomm
2. * Apple

3. % HpP

4. % Intel

Question Number : 42 Question Id : 25498910706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ FaTeThy
2. ® gd
3. % HP

4 % S

Question Number : 43 Question Id : 25498910726 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following software is NOT a software for video conferencing?

Options:

1. % Google Meet
2. % Zoom

3. # Skype

4. ¥ Fotor

Question Number : 43 Question Id : 25498910726 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 17l Hie

2. % 5
3. % WhIgy

4. ¥ HieR

Question Number : 44 Question Id : 25498911445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In general, a wrongly typed word is underlined in colour.

Options:
1.4 red

2. % green



3. ¥ yellow

4. % plue

Question Number : 44 Question Id : 25498911445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % <1
2. % 8

3. % dien

4. %

Question Number : 45 Question Id : 25498911456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
HiSilicon is a Chinese company specialising in technology.

Options :

1. % semiconductor
2. % keyboard

3. ¥ mouse

4, % stylus

Question Number : 45 Question Id : 25498911456 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Trfichga
2. % FlarE
3. * A39

4, % 3

Question Number : 46 Question Id : 25498911915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When Deepak is unable to view the entire comment that he wants to edit, he needs to try using

the feature in the Tracking group.

Options:

1. # Balloons

2. * Track Changes
3. ¥ Reviewing Pane

4. % Show Markup

Question Number : 46 Question Id : 25498911915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % I3

2. ¥ dop dal
3. ¢ Regfdn &=

4. % Y Arharg

Question Number : 47 Question Id : 25498911966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which alignment helps in aligning all your data in the middle?

Options:

1. % Left alignment

2. * Proper alignment
3. ¥ Center alignment

4, # Justified alignment

Question Number : 47 Question Id : 25498911966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ de ER@oT

2. ¥ YO G@ur



3. ¢ gz I@ur

4. ¥ SEHIZS GGUT

Question Number : 48 Question Id : 25498912501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is an unwanted bulk mail which is sent by an unauthorised or unidentified person in order

to consume the entire disk space.

Options:
1. % Spam
2. ¥ Mail
3. * Email

4. % Advertisement

Question Number : 48 Question Id : 25498912501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. @\

2. % A

3. ¥ -Ad

4. % fasma=



Question Number : 49 Question Id : 25498919160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the option that is NOT related to Mailings Tab in MS-Word.

Options :

1. * Address Block
2. % Greeting Line
3. ¥ Labels

4.« Ruler

Question Number : 49 Question Id : 25498919160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % ggg «dich
2. % fifé g
3. ¥ Qe

4, ¥ TR

Question Number : 50 Question Id : 25498932136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Video conferencing can be beneficial in learning.



Options :

1. # distance
2. % desktop
3. # limited

4. *# physical classroom

Question Number : 50 Question Id : 25498932136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ T
2. ¥ &y
3. % difaq

4. ¥ difden et

Question Number : 51 Question Id : 25498933764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is FALSE about Network Address Translation?

Options:
1. # Allow multiple devices to access the Internet through a single public address.
2. ¥ Translate private IP address to public IP address

3. #* Translate one or more local IP address into one or more Global IP address



4. ¥ Does not do translation of port number

Question Number : 51 Question Id : 25498933764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 52 Question Id : 25498934445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MPEG is used to compress

Options :
1. * audio
2. ¥ video
3. * animation

4. * graphics

Question Number : 52 Question Id : 25498934445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® 3ifeat
2. ¢ difeat
3. % gfAdrE
4, % 7iftheg
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: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

We say that a person has good manners if he or she behaves politely and is kind and helpful to

others. Everyone likes a person with good manners, but no one likes a person with bad manners.

Different countries and different people have different manners. In Malaysia, before entering a
house, it is good manners to take off your shoes. In countries like England and France, even
though shoes sometimes become very muddy, this is not done. A guest in a Chinese house never
finishes his drink. He leaves a little to show that he has had enough. We must find out the customs
of other people so that they will not think us ill-mannered. But people all over the world agree that

being well-mannered really means being kind and helpful.

Here are some examples of the things a well-mannered person does not do. He never laughs at
people when they are in trouble. Instead he tries to help them. He is always kind, never cruel
either to the people or animals. When people are waiting for a bus, or in a post office, he takes his
turn. He does not push to the head of the line. In the bus, he gives his seat to an elderly person or

a lady who is standing.

He says ‘Please’ when making a request and ‘Thank you’ when he receives something. He stands
up when speaking to a lady or an older person, and he does not sit down until the other person is
seated. He does not interrupt other people when they are talking. He does not talk too much
about himself. He has respect for the views of others. But good manners should spring up from
the heart. Only a show of good manners is not enough. A good mannered person is natural in his

behaviour.

It is necessary to learn good manners early in life. A good home is the best school for training in

good manners. A good society, too, helps you learn manners.

Sub questions

Question Number : 53 Question Id : 25498921230 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A person is said to have good manners if he:

Options :

1. * laughs at people who are in trouble

2. * wants to speak when someone is talking
3. ¥ respects and helps others

4. * tries to always be ahead in a line

Question Number : 54 Question Id : 25498921231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT a part of good manners?

Options:

1. % Pushing one’s way to the head of the line while waiting for a bus
2. * Saying ‘Thank you’ when one receives something

3. #* Offering your seat in a bus when you see an elderly person

4. # Behaving kindly and politely with everyone

Question Number : 55 Question Id : 25498921232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What should you NOT do if you want others to like you?

Options :

1. # Help others when they are in trouble



2. * Stand up while talking to a lady
3. #* Say ‘Please’ to make a request

4. ¥ Try to talk about yourself all the time

Question Number : 56 Question Id : 25498921233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Taking off your shoes before entering a house is considered good manners in:

Options :

1. % Malaysia
2. * England
3. * France

4. % China

Question Number : 57 Question Id : 25498921234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Why does a guest never finish his drink in China?

Options :

1. % Because he doesn't relish it
2. ¥ Because he is really full

3. % To show he has had enough

4. # So that somebody else can have the remaining



Question Id : 25498921229 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
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Question Number : 53 Question Id : 25498921230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Ueh fh it FAETETRY &gl ST € 3R a8 I

Options:

1. % WU A @A dTel AT R §9dT 8

2. ® 79 IS 1 IR @1 8 a9 I1d AT gl &
3. ¢ TR I T hdl & 3R 7GG hedl &

4, % dfzh o gHAT M a4 G hl hifAA wear g

Question Number : 54 Question Id : 25498921231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 9 I Ulell ohid T 18- 7t AThdl i YahT STl
2. ¥ 9 D U ohxdl & al 'g=9a1g’ gl
3. ¥ gopif Af<h dl d@R 99 | U Hie I T

4, % goft & I1Y SATAT 3R A8 oh1 agR AT

Question Number : 55 Question Id : 25498921232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 319 d AT A § af gERI bl TgradT i



2. % Uop AT § I1d PR GHT TS gl STral|
3. ¥ IPRIY A o I "puar’ FHg |

4. ¥ g IHT G h IR H F71d A chl I Al |

Question Number : 56 Question Id : 25498921233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ HfEn
2. ¥ geis
3. ¥ g

4. % A9

Question Number : 57 Question Id : 25498921234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ifch 9g 38 Ud< 8l T gl

2. ¥ xgifch Il Ue aTead | W:T g3 81
3. ¢ @M & forg fos ag 34 vate gem
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Section Id : 2549897256
Section Number : 3

Section type : Online
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Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
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Question Number : 58 Question Id : 25498928802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following question?

(You are not expected to find out the exact value.)
1524.79 x 19.92 + 495.26 =?

Options :

1. # 33000

2. % 78535
3.



¥ 31000

4. % 26575

Question Number : 58 Question Id : 25498928802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
=1 vy & usifrg (?) o W R ST dTelt & hl T J1H HTd hIfoig|

1524.79 x 19.92 + 495.26 =7

Options:

1. % 33000
2. % 78535
3. ¥ 31000

4. % 26575

Question Number : 59 Question Id : 25498928902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An article was purchased for ¥78,350. Its price was marked up by 30%. It was sold at a discount of

20% on the marked up price. What was the profit percentage on the cost price?

Options :
1.4 4%
2. % 7%
3. % 5%

4. % 3%



Question Number : 59 Question Id : 25498928902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Teh I £78,350 & WS} TS| 3Tk e i 30% TgTehs 3ifchd foma T 3ifchd Tewr R 20% Te & §T 32 s
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Options :
1.9 4%
2. # 7%
3. % 5%

4. % 3%

Question Number : 60 Question Id : 25498929036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

24 men can complete a piece of work in 15 days. 2 days after the 24 men started working, 4 men

left the work. How many more days will the remaining men take to complete the remaining work?

Options :
15- days
1.+ 5 7

5 % 16% days

- llgdays

4 % 10% days



Question Number : 60 Question Id : 25498929036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

15§ faeT

Question Number : 61 Question Id : 25498929105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.4 7



x 12

5 % 15

4 % 17

Question Number : 61 Question Id : 25498929105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The average marks of 30 students are 20. The average marks of the first 15 students are 19 and

the last 14 students are 22. Find the marks of the 16th student.

Options :
1.7
2. % 12
3. % 15

4. % 17

Question Number : 62 Question Id : 25498929401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1fRr 3 AT Al 15% & A1 TR Yo U1 S| AT A I8 UET 3 i 30% o o1 W & e afe giadr st ey
o &Y H 12 i g AT & 2156 31k UTe gy, ot AfA & foIg oa o1 sha gt fohe=m ar?

Options :

1 v % 800



5> % % 840

3 % % 1600

4 % % 1680

Question Number : 62 Question Id : 25498929401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Shashi sold a fan to Sumita at 15% profit. Sumita sold it to Abhi at 30% profit. If Sumita’s profit is

¥156 more than that of Shashi, the cost price of the fan for Shashi was:

Options :
1.+ 3800
2. % %840
3. % %1600

4. * %1680

Question Number : 63 Question Id : 25498929527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. 5 7 1 3;-% e li .
The value of the expression- X | —+ 1- - + = is:
7 10 5 y, [ 3

Options:

1
2_
1.+ 3



Question Number : 63 Question Id : 25498929527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

GENERAL MENTAL ABILITY AND REASONING
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Question Number : 64 Question Id : 25498914085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Unscramble the letters in the words given in options, and find the odd one out.

Options :

1. % EMITTER

2. % TAN

3. % LIONSTEVIE

4. % OIQSMTOU

Question Number : 64 Question Id : 25498914085 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % EMITTER

2. * TAN

3. % LIONSTEVIE

4. = OIQSMTOU

Question Number : 65 Question Id : 25498919007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
39 faaed o1 994 FifSiy e e man ereg fohedt fafre adids @ = iRy Y <ree-ar=aa & <real & ary 9efdq 8|

TS ; AT ; TRET

Options:
1. ® Fhat
2. % et
3. v g&

4. % IaReh

Question Number : 65 Question Id : 25498919007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain manner.



Root : Stem : Branch

Options :
1. % Wood
2. * Bush
3. ¥ Tree

4. * Fertiliser

Question Number : 66 Question Id : 25498919684 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option in which the numbers share the same relationship as that shared by the given

pair of numbers.

27:9

(NOTE : Operations should be performed on the whole numbers, without breaking down the
numbers into its constituent digits. E.g., 1,3 - Operations on 13 such as adding
/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed)

Options :

1. %64 . 8
2.% 125 1 5
3.% 135 1 15
4.+ 729 [ 81

Question Number : 66 Question Id : 25498919684 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
39 fahed o1 T+ hifSig foed & 718 dwerstt & sfta ag! urReaikes dey g, St ureRes dew i iy 1y dw=ar-gm
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Options :

1.%64 : 8
2.% 125 15
3. % 135:15

4.+ 729 © 81

Question Number : 67 Question Id : 25498919733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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a2

Required run rate = [282 - tf; . ’ID]} = 245{](] = 6.25
Options:
1.4 6.25
2. % 6.5

3.



*® 6.75

4. =7

Question Number : 67 Question Id : 25498919733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run rate in the

remaining 40 overs to reach the target of 282 runs?

282 - (8.2~ ’ID]} _ 250 _ 6.25

Required run rate = [ 40 40
Options:

1.9 6.25

2. % 6.5

3. % 6.75

4. % 7

Question Number : 68 Question Id : 25498919838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 9T 3Rdad
2. % 919 : Hig

3. ¢ AYATE! : STTel

4.,



® o ; foa

Question Number : 68 Question Id : 25498919838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four pair of words have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

Options :

1. # Horse : Stable
2. * Tiger : Lair

3. ¥ Bee: Web

4. % Rabbit : Burrow

Question Number : 69 Question Id : 25498927376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 22

2. % 24

3.4 26



4. % 28

Question Number : 69 Question Id : 25498927376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the number of triangles in the given figure.

Options :
1. % 22
2. % 24
3.9 26
4, % 28

GENERAL AWARENESS
Section Id : 2549897258
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897299
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 70 Question Id : 2549899653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
VR I G YT T gl [&d 8?2
Options :

1. ¢ gaed

2. % ofturel

3. ¥ IS

4. % =t

Question Number : 70 Question Id : 2549899653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where is the Forest Research Institute of India located?

Options :
1.+ Dehradun

2. * Bhopal



3. % Lucknow

4. #* Delhi

Question Number : 71 Question Id : 25498912526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® 9-ScT h TR &
2. ¢ Y-5TeT oh TR & FW
3. % SAh AT H

4, % Rt 51 Repra & g

Question Number : 71 Question Id : 25498912526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

While building a landfill, it is very essential to take which of the following factors into

consideration?

Options :

1. # Below the groundwater level
2. ¥ Above the groundwater level
3. # In a groundwater source

4. # Near a water body



Question Number : 72 Question Id : 25498912782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TUH 3MTYfeh Sieiiteh Well ol TS chal g3T UT?

Options :
1. % 1873
2.v¥ 1896
3. % 1884

4. * 1900

Question Number : 72 Question Id : 25498912782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The first modern Olympic games were held in:

Options:
1. % 1873
2.4 1896
3. % 1884

4. % 1900

Question Number : 73 Question Id : 25498922835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % Sfffeear

v

2. ¢ i
3. ¥ g

4. % rar

A

Question Number : 73 Question Id : 25498922835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A large opening found at the top of Sycon is called:

Options :

1. % Ostia

2. ¥ Osculum
3. * Redulla

4. % Trachea

Question Number : 74 Question Id : 25498931986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A= 23 iR faaw hifSa:

1. g8 SR
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Options :

1. % dhad 1



2. % 2 3R 3l

3. 1 3R 3

4, % 1,2 3R 3

Question Number : 74 Question Id : 25498931986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following countries.

1.Brunei Darussalam

2.East Timor

3.Laos

Which of the above is/are member(s) of the ASEAN group?

Options :

1. % Only 1

2. # Both2and 3

3.+ Both 1 and 3

4. % 1,2and 3

Question Number : 75 Question Id : 25498932413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the Movements in List-I with the Personalities in List-II.



Movement Personality

A.Satyashodhak Samaj 1. Bal Shastri Jambhekar

B.Manav Dharma Sabha  |2. Jyotiba Phule

C.Bombay Darpan 3. Henry Vivian Derozio

D.Young Bengal Movement|4. Mehtaji Durgaram Mancharam

Options :

1. % A-1,B-2,C-3,D-4
2. ¥ A-2,B-4,C-1,D-3
3. % A4,B-2,C-1,D-3

4. # A-2,B-1,C-3,D-4

Question Number : 75 Question Id : 25498932413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A-1,B-2,C-3,D-4

2. ¥ A-2,B-4,C-1,D-3

3. % A4,B-2,C-1,D-3



4. % A-2,B-1,C-3,D-4
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Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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English Actual
Group Number : 3
Group Id : 2549894602
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group?: No
Edit Attended Group?: No

Break time: 3



Mandatory Break time : Yes

Group Marks : 0
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English Typing Test

SectionId : 2549897260

Section Number : 1

Section type: Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and
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Maximum Instruction Time : 0
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Sub-Section Id : 2549897301

Question Shuffling Allowed : No
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Question Number : 77 Question Id : 25498938667 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

The ozone layer is a region of stratosphere of Earth that absorbs most of the ultraviolet
radiation from Sun. It contains a high concentration of ozone in relation to other parts of
the atmosphere although still small in relation to other gases in the stratosphere. The ozone

layer contains less than ten parts per million of ozone while the average ozone



concentration in Earth atmosphere as a whole is about negligible. The ozone layer is mainly
found in the lower portion of the stratosphere from approximately fifteen to thirty
kilometres above the surface of Earth. The ozone layer was discovered by the French
physicists Charles Fabry and Henri Buisson. It was deduced that the missing radiation was
being absorbed by something in the atmosphere. Eventually the spectrum of the missing
radiation was matched to only one known chemical which is ozone. Its properties were
explored in detail by the British meteorologist G. M. B. Dobson who developed a simple
spectrophotometer that could be used to measure stratospheric ozone from the ground.
Dobson established a worldwide network of ozone monitoring stations which continue to
operate to this day. The Dobson unit a convenient measure of the amount of ozone
overhead is named in his honour. Atmospheric research revealed that the ozone layer was
being depleted by chemicals mainly chlorofluorocarbons released by industry. Concerns
that increased UV radiation due to ozone depletion threatened life on Earth including
increased skin cancer in humans and other ecological problems led to bans on the chemicals
and the latest evidence is that ozone depletion has slowed or stopped. The United Nations
General Assembly has designated September sixteenth as the International Day for the
Preservation of the Ozone Layer. Venus also has a thin ozone layer at an altitude of hundred
kilometres above the planet surface. The photochemical mechanisms that give rise to the
ozone layer were discovered by the British physicist Sydney Chapman. Ozone in the Earth
stratosphere is created by ultraviolet light striking ordinary oxygen molecules containing
two oxygen atoms and splitting them into individual oxygen atoms. The atomic oxygen then
combines with unbroken oxygen to create ozone. The ozone molecule is unstable and when
ultraviolet light hits ozone it splits into a molecule of oxygen and an individual atom of
oxygen a continuing process called the ozone oxygen cycle. The thickness of the ozone layer
varies worldwide and is generally thinner near the equator and thicker near the poles.
Thickness refers to how much ozone is in a column over a given area and varies from season
to season. The reasons for these variations are due to atmospheric circulation patterns and
solar intensity. The majority of ozone is produced over the tropics and is transported
towards the poles by stratospheric wind patterns. In the northern hemisphere these
patterns known as the Brewer Dobson circulation that make the ozone layer thickest in the
spring and thinnest in the fall. When ozone is produced by solar UV radiation in the tropics it
is done so by circulation lifting ozone lacking air out of the troposphere and into the
stratosphere where the sun photolyzes oxygen molecules and turns them into ozone. The

ozone is carried to higher latitudes and drops into lower layers of the atmosphere. The



ozone layer can be depleted by a free radical catalysts.
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